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Guess Paper – 2010

Class – XII

Subject –Mathematics  

Time allowed: 2 Hours





Maximum Marks: 50

General Instructions :

(i) All questions are compulsory.

(ii)
Question numbers 1 to 8 are very short answer type questions. These questions carry one mark each.

(iii)
Question numbers 9 to 14 are short answer type questions and carry four marks each.

(iv)
Question numbers 15 to 17 are long answer type questions and carry six marks each. 

1. Find the values of a, b, x and y for which the following matrix is a scalar matrix.
(1)
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2. Find the inverse of the matrix 
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3. Let P = [Pij]3(3 be a matrix such that 
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4. Find the principal value of 
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5. Show that 
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6. Is (: N ( N ( N, defined by 
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7. If
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8. Define empty relation and universal relation. Give examples.



(1)

9. Find the matrix X such that [image: image9.wmf]021221
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OR

Prove that [image: image10.wmf]111
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10. Check whether the relation R, defined in the set P (X), i.e., power set of X = {1, 2, 3, 4, 5}, as R = {(A, B): A ( B}, is reflexive, symmetric or transitive. 




(4)

OR

By using properties of determinants, prove the following
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SECTION – B

11.
Prove that the curves   
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Find the equation of tangent to the curve  
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12.
If    
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Differentiate      
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   with respect to  x 

13.
Determine the value of    a  and  b  so that the function  defined below 
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14.
Evaluate   :              
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15.
Differentiate with respect to  x  :    
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16.
Ten eggs are drawn successively with replacement from a lot containing 10% defective eggs.  Find 


the probability that there is at least  one defective egg.


17.
Using properties of determinant show that:  
 a-b-c
2a
2a       =  
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18.
By eliminating the arbitrary constants   a   and b, form a differential equation  representing the family of  curves:    
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19.
Show that the differential equation   
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  is homogeneous and solve it.

20.
Find the shortest distance between the lines  AB and CD whose vector equations are : 
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21.
Prove that :        
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22.
Three vectors   
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SECTION – C

Q.23
Using elementary transformation find the inverse of matrix if it exists 
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Q.24
Two godowns A and B have grain capacity of 100 quintals and 50 quintals respectively. They supply to 3 ration shops D, E and F whose requirements are 60, 50 and 40 quintals respectively. The cost of transportation per quintal from godowns to the shops is given below:

	Transportation cost per quintal (in Rs)

	From / To
	A
	B

	D

E

F
	6

3

2.50
	4

2

3


How should the supplies be transported in   order that the transportation cost is minimum?

Q.25
Find the area of the region enclosed between the two circles x2 + y2 = 4 and  (x – 2)2 + y2 = 1.

Q.26
Find the coordinates of the foot of the perpendicular and the perpendicular distance of the point (1,3,4) from the plane                         2x – y + z +3 = 0. Find also the image of the point in the plane.

Q.27
Evaluate 
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Q.28
A point on the hypotenuse of a triangle is at distance a and b from the sides of the triangle. Show that the minimum length of the hypotenuse is

 ( a2/3 + b2/3 )3/2.  




OR

Show that semi-vertical angle of right circular cone of maximum volume and of given slant height is 
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Q.29
A card from a pack of 52 cards is dropped. From the remaining cards two cards are drawn and are found to be club. Find the prob. That the dropped card is club.
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